Solution to Groundwater flow model activity
Note: Solutions will vary depending o the groundwater flow model used, and the hydraulic gradient of the model.
1) Sketch of groundwater flow model
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4) (a) Most permeable – Coarse sediments: Pore spaces are more connected
(b) Least permeable – Fine sediments: Pore spaces are less connected 
5) Inject dye in sediments with different grain sizes. Then observe movement of dye in sediments and assess how long dye takes to move through sedimenst with different grain sizes.
6) **Will depend on wells selected and where piece of wood is placed (if used).**

For unconfined aquifer use wells # 2 and 10 to measure hydraulic head. The distance between the two wells is = l. 
For the confined aquifer use wells # 1 and 7. The distance between the two wells is = l. 
7) **Will depend on wells selected and where piece of wood is placed (if used).** 

Use the answer from question 6 to calculate v.

8) Yes, the contaminant would move through the confined aquifer up the artesian well into the surface water body, then flow into the unconfined aquifer because the groundwater and surface water systems are interconnected.
